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QUESTION 1

When is a PRIMARY KEY (PK) table constraint evaluated during an INSERT statement into the table?
A. The PK constraint is never checked when a row is inserted into the table.

B. After the row is inserted into the table.

C. Before the row is inserted into the table.

D. The PK constraint is only checked during a GENERATE STATISTICS operation.

Correct Answer: C

QUESTION 2

Which statement is accurate regarding snippets?

A. The number of snippets depends on query and complexity.

B. Every query is always turned into four snippets.

C. Every query is always turned into one snippet.

D. The number of snippets is always based on the size of the system.

Correct Answer: C

QUESTION 3

To enable or disable multiple schema support on the IBM Netezza Performance Server, which configuration file needs
to be updated?

A. system.cfg

B. pg_hba.conf
C. postgresql.conf
D. startup.cfg

Correct Answer: C

QUESTION 4
To how many resource groups can a user be assigned?

A. four
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B. unlimited
C. three
D. one

Correct Answer: C

QUESTION 5

Which statement regarding drive failure is true?

A. Queries and transactions are not interrupted by drive failure if their data is not on the failed drive.

B. Queries and transactions are not interrupted in the event of a drive failure.

C. Queries and transactions are interrupted by drive failure because there is no drive mirroring for drives.

D. Running queries and transactions will finish, but new transactions will not be allowed till drive is changed.

Correct Answer: A
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